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Name:

Date:

Teacher:

Class:

Find the Secret Trail 603

Why did the woman wear a helmet at the dinner table? She

was on a crash diet.

Find the trail of numbers that end in the number in the
Finish square. Make only vertical or horizontal moves.

5 10| 5 | 6
4 | 3|3 |8
2 |7 |7 | 4
8 | 6 |9 | 8
1. +  Finsh | 43
15102 | 2
13 | 21 | 24 | 26
22 | 7 | 2 |12
0 |28 |19 |1
3. +  Finsh | 128

Start

Start

14 | 16 | 14 | 2
14 | 18 | 4 | 5
6 | 2 |5 |3
14 | 1 | 14 | 12
2. +  Fnish | 71
14 | 15| 8 | 35
23 | 34 | 23 | 33
38 | 19 | 30 | 3
32 | 38 | 19 | 35
4, +  Finish | 213
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Answer Key Date:
% Teacher: Class:
-y - Find the Secret Trail 603
-, Why did the woman wear a helmet at the dinner table? She
was on a crash diet.
Find the trail of numbers that end in the number in the
Finish square. Make only vertical or horizontal moves.
) 10 5——? Start 14 ( 16 | 14 | 2
3 3 SL 4 | 18 | 4 )
2 I 7 4 ¢ 513
8 6 9 E|5 14 14 | 1P
Finish 4|3 2  + Finish | 711
15—++% 2 2 14 | 15 | 8 35
13 |1 21 | 24 | 26 23 | 34 | 23 3l3
22 1 12 3|8 19+3 2+
0 286——39 | 1 | Stat 3|2 38 | 19 3|5
Finish | 128 4 + Finish 213
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